QH|C| Al 25

14 3 2CMME 0|83}0
CX| g 2 2HE7)




A

Af

|
o5 MA

TWI(I2C) S Al
JKIT-128-10j|A2| 2 MA HE 2A
ATmegal282| TWI QIE{{ 0| A

ATS75 2% MIA S| TWI QI O|A

Al TEMP-1 : TWI QIEL|0|AEZ E Al B}
25 TEMP-2 . 224z C|X[E 2274 Br=7|

OOO0O0000

SHICIEAIAE



= Al

O 22 MA (ofg=21)

B 2 X ThermistorE 0|23}l0 2 =X

B Thermistor
O LA ZLE, F2,
0 257 =0tX|H X—|
=7l 8= 7

| 2fE=2 0|F0T =2
O Wei7t1a, =7t L™ NatZ

X0
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= Al

O 25 MA (OS2 1)
B 2 KEgel of
O 100% : 1 KQ 0|}
0 0% :15KQ®E
O -10% : 25 KQ O] At
B 00322 EEDQte| A Z

2 ZHA ?

A

Vcc

OOl 322 EE2{ ADC ZE

GND
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= Al

O 2% A (KX E)
B Otz 2 MAe 0|2t 2ot 245 0|00 LA &

OIE|HO[AS JHR|= S M
B HE DSO[L}IC HEYE IR
B OjojAEEEER{90 Uz

HEZ| A —

O|E} —

y&v

_|_
Logic

A
SRS

(o3 =

ZESY
GPIO R E)

OR

A2 YEA P

E O Lo—

Ol_I E-I .I._I.'”O|ﬁ Logic

(Ofoj3 2=
EEY
RS232C, I2C,
SPI ZE)
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12C(TWI) EAl

0 7|2 3%
B ]2C: Inter Integrated Circuit (I square Q)
m Philips AL7F HIQHSH 2742]8 X S|4 Qs SA B
B OO AEZESH0 62{7tX| 22|, I/O &AtE AZEY )
A&
B Atmegal280|| A= TWI(Two Wire Interface)E HA
B SDA(Serial Data), SCL(Serial Clock)2| 27| Al=8t A&

SCL(Serial Clock)= Master/t M| &ot= 2=

SDA(Serial Data)= Master2} Slave?t €74 At&5H= H|O|H
100kbps, 400kbps, 3.4Mbps2| 37tX| M& =& K| &

Slave X| M2 7H|E O|EFAZ 0|238IMH, XA SlaveZ S8}
= 7| (broadcasting) = X| 2

Multi Master =7 (arbitration) 7|5 X| &l

O0O00

O

SHICIEAI A E o



[2C(TWI) &4

AHIO A
O AAHEIO 17
* Open Drain EE= Open Collector 4l
+Vee
//\
Slave Slave Slave Slave rR1| [ro
Device 1 Device 2 Device 3 Device n
\\_/
SDA SEA
Master
Device SCL
SCL
>
SHICIEAAE) o



[2C(TWI) &4

SDAZ} HH3} )

SCLO| "High” x| Q= AFEH
Ol SFEHOf| A
S oS | A SCLO|
= 7|% e '—LIJ—'BH SDAZ} 1 t oy
< > | | | |
r—— H 2 ALO[Z (busy) r—= I I I I
N e ANCDOTN
SDA L\ N \ /| < > | |
| I l
Thna— N e
scL | I Ii | : | change | . |
! data | data |
L8] LD e |99 g |
START condiion STOP condition

SCLO| “High”
Ol AEH O A
SDAZ} |

(c) START,

(b) 1H|E CjO[E] M S

rh

in
!
1

|

1

i

1

1

|

1

|
o
1|
1

|

1

|

1
1l
1
1
!

TN !
STOP START REPEATED START

REPEATED START, STOP
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[2C(TWI) &4

(WRITE) [/S/}/ SLAVE ADDRESS//'RW/| A [/DATAZ] A [/ DATAZ|AA
i~ f. L datatransferred ——
0' (write) (n bytes + acknowledge)

(READ) pS/1/SLAVE ADDRESS //RW/] A | DATA [/A/] DATA [/A

. t L data transferred ——
1'(read) (n bytes + acknowledge)
A = acknowledge (SDA LOW)
from master to slave A = not acknowledge (SDA HIGH)
from slave to master S = START condition

P = STOP condition

SHICIEAIAE



[2C(TWI) &4

O OO|E £2Al =X

O T L- O 1

B Address Cycle + Data Cycle
B StopO| L}EtLEZ| MTK|= StLte| Master7t H{AE A&

———Address——— R/W  ACK ! Data 1 ACK

oA / wse X >CD<LSB>< 'R /MSB>< >CD< ' EY SN -

START SLA+R/W i Data Byte STOP

* Data ByteQ| 7|=== 7tH

SIHIC]IEAIAE —710-



JKIT-1280j|A{o] L= MM A A A

O JKIT-128-10f 2] 2 ZMAl Sz M| 7|3
B 2L MA= CHYAM S 2ot CIX|E 22 Al Af-g-
B Jt=stI2C(TWILE SPI E Al OIE{I|O| A7) 7F=5F MIA{ K| EH
m JHHo| MBI HA T 4 Qe MA| ME
= <alS75> C|X|E &5 MA| (12C @l E{ 0| A) X|{EH
B alS/5 (EE= LM75A)
O Slave Address f & High 4H|E Q| /2 “1001"2 MHol{|lH /U
MAXF= Low 3H|EO| 22 Yo|2 FE % S
> “000"1f “100"Q| 271Q| Zt = AMEHO| 7t E NH2|5Hg]
71242 "100"e 2 ¢t
O SCL, SDAY| pullup Mgt 94 EQ
B (JKIT-128-1) MISSING Il > AAH 2&F7?

B Sf|Z HiY o SCL SDAZF Q|0 9= L E QI PDO, PD10| YIZE
IOU”Up H%% RSl INEEPS oH74(SW SHAR ALE)

SIHIC]IEAIAE —77=



JKIT-1280j|A{o] L= MM A A A

OO0 aTS75 2= AMlA|

CIA]
2

B 2o MA
=X HOl - MM -30E ~ 125%

=™ QK| E|L| +/- 2E(25E0A]), +/-3E (1 25 F71)
= (resolution) : 9~12H|E (0.5 ~ 0.0625%)

= Of
eIE
£
jj 7
A=

Of

I O| A : 12C (TWI)
X0t 2.7V ~ 55V

Xl E|'(|)=l . SOIC—8I MSOP_S SOP8 and MSOP8

YA MEH - A2, AL AOC| 371 Al ., T

SCL —

0.8. —]
, ("

GND —

— Vop

— A0

— A1

— A2

SHICIEAIAE
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JKIT-1280j|A{o] L= MM A A A

O JKIT-128-10|Mo| L =M oA M A

2
TEMP_SCL[ > ;g PD(Q NTO
TEMP_SDA[__ > 571 PD JINT1
PD2[ > >8] PD2_RXD_INT2
PD3[_> 55| PD3_TXD1_INT3
PD4 [ ::o PD4_ICP1
PD5[> 37| PDS_XCK1
PDE[_> 35| PD6_T1
PD7[ > — PD7_T2
+5V
+5V
us
R28 = ‘ F
< 7! AD VDD —l—{s Sl pius
47K 9 ¢ 8 A1
| Sla2  TEMP B2

TEMP_SDA[ > 1. spa
————————— TEMP_SC 2lscL vss B 1
/ i ATSTS
Slave Address #f2?

= (1001)100 =

SHICI EAIAE
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JKIT-1280j|A{o] L= MM A A A

/ 00|22 E =S 2| F IC(E= 2 E) \

HZA| FOlAEH 1!

N

Of 5+ <Y (datasheet, manual, A8 A )0| 7}& =S !
2. PEOJICH A4

- T Ho|, 7|5 U HE

- O|H| A4 E( Recommended Circuits)

- M7|M™ H4(Electrical Ratings : 4 M/MH &)

- Z=H RLC(Resistor, Inductor, Capautor) 14, A4HH =
S ER= 0 Rl = T 0
- Q| O] M(Q B | O] &) Hr /=M

K - 0N == (Sample Code) /

SIHIC]I EAIAE —714=



ATmegal282| TWI QI E{m| O] A

O ATmegal289| TWI

E X|
—/ O

7H|E Oj= A WA
2t X[ &

RCHEXRE T BT
2 E(100kbps)t 11
& E (400kbps) 3t X| &

—>

s2g

7Y

SCL SDA

Slew-rate | Spike
Control Filter

Slew-rate | Spike
Control Filter

A A
\ Y
Bus Interface Unit Bit Rate Generator
START / STOP . .
Control Spike Suppression Prescaler
P
. ) Address/Data Shift Bit Rate Register
Arbitration detection Register (TWDR) Ack (TWER)
A i A
Y \ \
Address Match Unit Control Unit
Address Register Status Register Control Register
(TWAR) (TWSR) (TWCR)
State Machine and
Address Comparator Sttiscontol
TWI

SHICIEAIAE
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ATmegal282| TWI QIE{I{ 0| A

O TWBR : TWI Bit Rate Register

Bit 6 5 4 3 2 1 0
¢$70 | TWBR7 | TWBR6 | TWBR5 | TWBR4 | TWBR3 | TWBR2 | TWBR1 | TWBRO | TWBR
Read/Write RIW RIW RIW RIW
Initial Value 0 0 0 0 0 0 0 0
0 1 0 0 0 0 0 0 = 0x40
XTLAZ= O ol& H > A
B SCL =9 FIifx+-E &F7| ot EH| 274

TWPS 0
16 + 2 * TWBR * 4 16+2*64*4

/

(St TWBRZ 10 O|4&, TWPS= TWSR 2| X|AH ™4

SIHIC]IEAIAE —16=



ATmegal282| TWI QIE{I{ 0| A

OO0 TWDR : TWI Data Register

Bit 4 3 2 1 0
$73 | TWD7 TWD6 TWD5 TWD4 TWD3 TWD2 TWD1 TWDO TWDR
Read/Write R/W RW R/W

Initial Value 1 1 1 1 1 1 1 1

B SADRCO|N TR0 SAl(write) & HIO|E(S2|0/E 0= 3
A £ GO|ENE ME
B AR CO|A Al (write)El HFO|E(E|0|ENS M

SHICIEAI A E 7



ATmegal282| TWI QIE{I{ 0| A

OO TWCR : TWI Control Register

Bit 6 5 4 3 1 0

$74 _ TWE | TWCR

Read/Write R/W RW R R/W
Initial Value 0 0 0 0 0 0 0 0

B TWINT(TWI Interrupt Flag) : TWIZF SXfj o] S&HE 2z
2 Udf|e ZO2 1S SEHAFZE LIEIH, X}522 clear
EIXI O*OEH O] Z0] '1"¢l %?_f% SCLO| ‘0" &EfE =X|SI2

3, clea o £

2 HtE A| clearA|7{0f
writegt.

O TWEA(TWI Enable Acknowlege) : 1 HO|E G|O|E{E =Alst
740 ACK AMSE ']'Z BHMSIE 2 &t

B TWSTA(TWI Start Condition Bit) : START = =&, CtA|

ar ofe{™ O]

%’M/[/EA/A@/earEl O-I Ol: %I- — 18—



ATmegal282| TWI QIE{I{ 0| A

OO TWCR : TWI Control Register

Bit 6 5 4 3 2 1 0

:
$74 TWE | TWCR
RIW RIW RIW R

TWEN
Read/Write R/W R/W R R/W
Initial Value 0 0 0 0 0 0 0 0

B TWSTO(TWI STOP Condition Bit) : STOP &2 &5, A= O
Z clear=!

B TWEN(TWI Enable) : TWI HAE enableA|Z
B TWIE(TWI Interrupt Enable) : TWI CIE{HE 7} YMSIE = I
g, 12 HEEOf YO8 TWINTZH M E f QlEBE 2

H— =2 O

SIHIC]IEAIAE —710—



ATmegal282| TWI QIE{I{ 0| A

0 TWSR : TWI Status Register

Bit 6 5 4 3 2

7 1 0
i1
R R R R RIW R/W

Read/Write R R /
Initial Value 1 1 1 1 1 0 0 0

B TWS[7:3](TWI Status) : TWI Zlgli AEj HEA

o O
SENS
B TWPSI[1:0](TWI Prescaler Bits) : TWI 2 & A A0 AR E|=
o AA YA M E

O 00 =123, 01=42F, 10=162F, 11=6423

z\
jiu
X
%
Of

X

SIHIC]IEAIAE —20-



ATmegal282| TWI QI E{m| O] A

O TWI =&k
O 1
B Master &A(Write)
MT
Successfull
transmission A
to a§lave
$08 $18 $28
1. START A& - TWCR = TWINT=1, TWSTA=1, TWEN=1
2. AE} H&A - TWSR = TWSR & 0xF8 = 0x08
3. TWDRO]| SLA+W M| E - TWDR = TWDR = SLA + W
4. SLA+W M= - TWCR = TWINT=1, TWEN=1
5. Ack M= - TWSR = TWSR & OxF8 = 0x18
6. TWDRO|| G|O{E{Zr M E : TWDR = TWDR = DATA
7. G|O|E MZ& : TWCR =& TWINT=1, TWEN=1
7. Ack H|2 : TWSR = TWSR & 0xF8 = 0x28
8. STOP M=  TWCR =1 =1 =1

SHICISAIAE
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ATmegal282| TWI QI E{m| O] A

O TWI =4t
B Master Z=41(Read)
Successfull -7
reception A DATA
from.a slave -- - -
$08 $40 $58
1. START M & : TWCR = TWINT=1, TWSTA=1, TWEN=1
2. AE} M2 - TWSR = TWSR & 0xF8 = 0x08
3. TWDROj| SLA+W M E : TWDR = TWDR = SLA + W
4. SLA+W A& : TWCR = TWINT=1, TWEN=1
5. Ack M|A - TWSR = TWSR & 0xF8 = 0x40
6. 4|O| B =4I : TWCR = TWINT=1, TWEA=1, TWEN=1
7. AE} M| &2 : TWSR = TWSR & OxFC = 0x50 (C}2 H|O|E o] 4% 6, 7 HtE)
8. STOP M& - TWCR = TWINT=1, TWSTA=0, TWSTO=1, TWEN=1

SIHIC]IEAIAE —oo_



alS75 2= MAA 2| TWI @I I O] A

O aTS75: 2| X|AH

scia s<|:|

Serial Interface

>

.

Command
(‘Pointer’)
Data

v

Command Register
1-byte Write Only

Read/Write
Data

Temperature Register
2-byte Read Only
Command Reg. = 00000000

!

Configuration Register
1-byte Read/Write
Command Reg. = 00000001

'

Tuvst Register
2-byte Read/Write
Command Reg. = 00000010

.

Tos Register
2-byte Read/Write
Command Reg. = 00000011

SHICI EAIAE
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alS75 2= MAA 2| TWI @I I O] A

O aTS75 : Command Register
m L2O| OHE X AHE X|’8517| 2t 2l A AH
B 2=9| Indirect Address Register A&t
B ChE X|2HG E25t7| 25t = HA Command
RegisterOf] 26t 1 XA}F St= B X|AHO| SE L= 4HS Write
5l S0f Qste 2| K| AE 2 Read/Writes}0{ O &

—

MSB LSB

0 0 0 0 0 0 P1 | PO

Register P1 | PO
Temperature Register 0 0
Configuration Register 0 1
Tuyst Register 1 0
Tos Register 1 1

SIHIC]IEAIAE —o4—



alS75 2= MAA 2| TWI @I I O] A

00 aTS/5 : Temperature Register
B 2oyl HA BA G942 Ts HIOlE &
B 2 HIO|E (16H|E)
MSB 14 13 12 11 10 9 8

SsBjtmsB| T | T | T | T | T | T

& [ obit |10.bit] 11-bit| 12-bit
1sB |Lse|LsB|Lse| O | O] 0 | O

SB = Two's complement sign bit

TMSB = Temperature MSB

T = Temperature data

9-bit LSB = Temperature LSB for 9-bit conversions
10-bit LSB = Temperature LSB for 10-bit conversions
11-bit LSB = Temperature LSB for 11-bit conversions
12-bit LSB = Temperature LSB bit for 12-bit conversions

SHICI EAIAE



alS75 2= MAA 2| TWI @I I O] A

O aTS75: 2= 2}
C| A & aXate)
|

2's complement
HO A ALE

Temperature Digital Output
+= | Number of bits wr |l s
2| usedby 2|35 | 5| 5 |Aways
S| conversion |[o |2 ||| zero
@1 resolution
12-Bit Resolution 0000
All Temperatures 1 jBit Resol_ution 0 | 0000
10-Bit Resolution 0] 0 | 0000
9-Bit Resolution 0|0 0| OOOCO
+125°C Of 111 [ 1101 | O | O | 0| O [ 0000
+100.0625°C Of 110 [ 0100 |O| O | 0| 1 [ 0000
+50.125°C Of 011 (0010 |O|O]| 1] 0 [ 0000
+12.25°C 0| 000 [ 1100 (O 1| O | O | OOCO
0°C 0| 000 ([ OOOO (O[O (O | O | OOOO
-20.5°C 1] 110 [ 1011 (1 [ OO | O | OOOO
-33.25°C 11101 [ 1110 (1 |{ 1 (0| O | 0000
-45.0625°C 1] 101 | 0010 (1| 1 (1| 1 | 0000
-55°C 1| 100 | 1001 (O[O (O | O | OOOO

SHICI EAIAE
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alS75 2= MAA 2| TWI @I I O] A

OO aTS75 : Configuration Register
B 2E{ S HE A™:9, 10,11, 12 HIE
B T 4% : Comparator mode vs Interrupt mode

o 0 0 0 000 0 —

MSB LSB

X |R1| RO| F1| Fo |PoOL C,'Qj'?” sD

R1 = Resolution bit 1. (See Table 3)
RO = Resolution bit 0 . (See Table 3)
F1 = Fault tolerance bit 1. (See Table 4)
FO = Fault tolerance bit 0 . (See Table 4)
POL = O.S. output polarity. 0 = active low, 1 = active high.
CMP/INT = Thermostat mode.
0 = Comparator Mode, 1 = Interrupt Mode.
SD = Shutdown. 0 = normal operation. 1 = Shutdown Mode

SHICI EAIAE
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alS75 2= MAA 2| TWI @I I O] A

O aTS75 : Slave Address AN

B Slave Address 4} = 1001(A2)(A1)(AO) (7H| E
« 10012 Loz 11

+ (A2)AL)(A0)2 2F 3PE%|01 2 AZ9| 2| Eof et

7=|I'|

v Vcc A40|H ‘1’

v GND 94 0|H ‘0

v O : JKIT-128-10| A= ‘100" =» 1001100

SHICIEAIAE

_28_



alS75 2= MAA 2| TWI @I I O] A

O aTS75 : TWI Read/Write Operation
B Pointer Set(Command Register)

SCL H H . H H : H H H . H H H H H H 2 g H
o)/ T\ o o /TEXEE\am A 0 o 0 0 o o (/e ¢/
\ | /Ack \ I JACK
from 5 from
Address Byte aTS75 Pointer Byte aTs75
SIHIC]I EAIAE —20—



alS75 2= MAA 2| TWI @I I O] A

O aTS75 : TWI Read/Write Operation
B One Byte Write with Pointer Set(Command/Configuration R)

S/ 1\ 0 0/ TXAXAXANRW A 0 0 0 0 0O

5o N : JA?k N l s I J 1
C
Address Byte from : from from
aTS75 Pointer Byte aTS75 Data Bylo aTS75

(from Master)

B Two Bytes Read with Preset

S SRR Ry KRR R R R R R R R RS iR p S pu
1mmmmAmmmmmmmmAmmmMooo;ﬁvﬁ

t
| /AIK X | / Ack \ I J Nfcr)o}:\]sk
Address Som, Most Significant Data . Least Significant Data Master
Byte Byte Byte
(from aTS75) (from aTS75)

SIHIC]I EAIAE ===



AL TEMP-1: LEMME CIX|EHR L7 S 7

O 25 WE
B alS75 2R ME O|85t] CIX|E 24 BHE7
O 05k BR7HX| 57
O FNDO| “()XY.Z" SEJZ EA|

SHICIEAIAE
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25 [EMP-1: 2EHAMZ X224 EHa7]

0 7%
|

AA : OXE2E4 (temp_1.c)

aTS7501|A-| 253,{; Ot2lf =A1=2 Read

O

O

ol
21
[

aTS752| Configuration RegisterE& XM otot 4O =2 Write
B 9bit 2E, Normal 2 E AlEH
B Internal Address(0x98) & Register2| 2H}O|E [|O|E M

aTS752] Command Register?} Temperature Reglster— i QI8
ote= MESH = 2HIO|E 24 517

- 7+2 Ofgjet 20| CIAZE| 0]

12 High Byte2| MSB Zf2 =+9135}0] ‘0’ 0|™ FND[3]0] Orﬂﬂ
T CIA2Z0|stX| &2 '1'0|H '-'E C|AZ8 0|5t LIHX| &
== H|E Exclusive OR st 7to =2 |:|:|7:|
High Byte 222 FND[2]-FND[1]0] C|AZg{|0| &}, FND[1]0j|
= B 3 BA|
FND[0]= Low Byteol MSB Z{2 =toIst] '0'0|H '0'S CIAS

gjojsta, '1'0|H, '5'E C|AZgo] &

SHICIEAIAE
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25 [EMP-2: 2EAIMZ LIX[22 24 EHa7]

O 75 2219 24 : LA B2 (temp_l.0)

TWI 7|3} : TBRR, TSR = 40Kbps, SFIOR PUD A&l

Start M5 S & MEf M=

Slave Address + W ™% 8! Ack X3

Config Register O E2{| A g Write 3! Ack M3

Config Register H|0|E{ g} Write 3! Ack M3

TWI Stop M &

HZ8}0] -

SIHIC]IEAIAE ===



HE TEMP-2 . 2EHM=Z CIX[E2 27 BHE7

O 75 2219 24 : LA B2 (temp_l.0)

B
e —
Temperature Register O] E&| A7} Write S Ack X2
Restart & S & AEf A2
Slave Address + R % 8l Ack H3
Temperature Register X1 A Cf|O| E{ %} Read % Ack M=
Temperature Register =H R C|O|E{ 7} Read 3 Ack M=

TWI Stop ®&

20| 2 ZtS FNDOf| Lot C|2Z20]
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25 [EMP-2: 2EAIMZ LIX[22 24 EHa7]

O s Z219 39 HAE2LE7 (temp_l.0)

#define F_CPU 16000000UL // CPU 2& 4} = 16 Mhz
#define F_SCK 40000UL // SCK 2& 2t = 40 Khz

#include <avr/io.h>
#include <util/delay.h>

#define ATS75_ADDR 0x98 // 0b10011000, 7H|EE 1H|E left shift
#define ATS75_CONFIG_REG 1
#define ATS75_TEMP_REG 0

void init_twi_port();

void write_twi_lbyte_nopreset(char reg, char data);
int read_twi_2byte_nopreset(char reg);

void display_FND(int value);

SHICIEAIAE
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S TEMP-2: 2 dMZ CIX[E2EA BH=7|

O s =272 3 X E2E A (temp_1l.c)

int main()

{

int temperature;

init_twi_port(); // TWI & ZE X7|35}
write_twi_lbyte_nopreset(ATS75_CONFIG_REG, 0x00); // 9H| E, Normal
_delay_ms(100); // Tt& AO| 22 {50 THA| 7|CHE
while (1) /] 224 10 FND C{A 2|0

{
temperature = read_twi_2byte_nopreset(ATS75_TEMP_REG);

display_FND(temperature);

SHICIEAIAE
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d5 TEMP-2 : 2E/AIME CIX[E222 TS

O s =272 3 X E2E A (temp_1l.c)

void init_twi_port()

{
DDRC = Oxff; DDRG = 0xff; // FND =& A&

PORTD = 3; // For Internal pull-up for SCL & SCK
SFIOR &= ~(1<<PUD); // PUD = 0 : Pull Up Disable

TWBR = (F_CPU/F SCK - 16) / 2; /] SA KX bit trans rate AN
TWSR = TWSR & O0Oxfc; // Prescaler 4f = 00 (1H{)

SHICIEAI A E a7



25 [EMP-2: 2EAIMZ LIX[22 24 EHa7]

O s =272 3 X E2EAH (temp_1.c)

void write_twi_lbyte_nopreset(char reg, char data)
{
TWCR = (1 << TWINT) | (1<<TWSTA) | (1<<TWEN);// START ™ &

while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x08) ;
// START &Efl AL O|F 25 B A

TWDR = ATS75_ADDR | 0; // SLA+W Z=H|, W=0
TWCR = (1 << TWINT) | (1 << TWEN); // SLA+W &=
while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x18) ;
TWDR = reg; // aTS75 Reg 4t =H|
TWCR = (1 << TWINT) | (1 << TWEN); // aTS75 Reg 7t H&
while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x28) ;
TWDR = data; // DATA ZH

TWCR = (1 << TWINT) | (1 << TWEN); // DATA A&

while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x28) ;
TWCR = (1 << TWINT) | (1 << TWSTO) | (1 << TWEN);  // STOP M=



=25 = dAN S 0|80t LIX|ZE2 LA E=7]

O s =272 3 X E2E A (temp_1l.c)

int read_twi_2byte_nopreset(char reg)
{
char high_byte, low_byte;
TWCR = (1 << TWINT) | (1<<TWSTA) | (1<<TWEN);// START Xz

while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) !'= 0x08) ;
// START &Eff AL O|= ACK 3! &FE HA}

TWDR = ATS75_ADDR | 0; // SLA+W Z=H|, W=0
TWCR = (1 << TWINT) | (1 << TWEN); // SLA+W M &

while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x18) ;
TWDR = reg; // aTS75 Reg 4t =H|
TWCR = (1 << TWINT) | (1 << TWEN); // aTS75 Reg 7t M4

while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x28) ;
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A
=

=AM E 0|80t LA 2224 TS

O s =272 3 X E2EAH (temp_1.c)

-}

TWCR = (1 << TWINT) | (L<<TWSTA) | (1<<TWEN);// RESTART
while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x10) ;
// RESTART AtEj A A} O|= ACK, NO_ACK AFEJ A A}
TWDR = ATS75_ADDR | 1; // SLA+R Z=H|, R=1
TWCR = (1 << TWINT) | (1 << TWEN); // SLA+R N &
while ((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x40) ;
TWCR = (1 << TWINT) | (1 << TWEN | 1 << TWEA);// 1st DATA =H|
while((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) !'= 0x50);
high_byte = TWDR; // 1st DATA =4l
TWCR = (1 << TWINT) | (1 << TWEN);// 2nd DATA Z=H|
while((TWCR & (1 << TWINT)) == 0x00) || (TWSR & 0xf8) != 0x58);

low_byte = TWDR,; // 2nd DATA =4
TWCR = (1 << TWINT) | (1 << TWSTO) | (1 << TWEN);  // STOP M&
return((high_byte<<8) | low_byte); // =41 DATA 2|H

SOt =N & —4()—
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void display_FND(int value)

{

char digit[12] = {Ox3f, 0x06, 0x5b, 0x4f, 0x66, 0x6d, 0x7c, 0x07, Ox7f, Ox67,
0x40, 0x00};

char fnd_sel[4] = {Ox01, 0x02, 0x04, 0x08};

char value_int, value_deci, numl[4];

int i;

if((value & 0x8000) != 0x8000) // Sign H|E X3
num([3] = 11;

else

{ num([3] = 10;
value = (~value)-1; // 2's Compliment

}
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value_int = (char)((value & 0x7f00) >> 8);
value_deci = (char)(value & 0x00ff);
num(2] = (value_int / 10) % 10;
num[1l] = value_int % 10;
num[0] = ((value_deci & 0x80) == 0x80) * 5;
for(i=0; i<4; i++)
{

PORTC = digit[numli]];

PORTG = fnd_sel[i;

if(i==1)

PORTC |= 0x80;
_delay_ms(2);

}
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